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Series Questions Overview

Series Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar
to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate
the concept used in Series Questions.

Question

Select the combination of letters that when sequentially placed in the gaps of the given letter series will complete the
seres. K _CT _BLUC M _M_C_MB
Difficulty : Moder ate Average Time: 33 Seconds

Options :
1. UMTBUT

2. BMTUBT
3. UMTUUT

4. UMTUBT

Solution

The correct answer is Option 1 i.e. UMTBUT

Understanding
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The given series is-

of three letters each.

The pattern followed here is:

Second letter - U, M, U, M, U, M

Third letter-C, B, C, B, C, B

Therefore, the whole series is:

K CT_BLUC_M_M_C_MB

Now, we will divide the whole series into a set

K _C/T_B/LUC/_M_/M_C/_MB

Firstletter-K, T, K+ 1, T, K+ 2,

KUCTMBLUCTMBMUCTMB

T
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